Percentage Of

I.  The Formula:   
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       (where the % is written as a decimal)

II. Visually:  Whole means the entire pie. Part means one of the shaded regions or pieces of the pie.
[image: image10.wmf]
III. There are three ways to think about this relationship:
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IV. Deriving the formulas:  Can you figure out (algebraically) why all three of these are just different versions of the same relationship?

a.  Starting with the formula:  
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Derive:  
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b.   Starting with the formula:  
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Derive:   
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V. Solving Problems
There are two approaches to solving the following problems.  The first approach is to identify the two given numbers.  Then decide which version of the part/whole relationship will help you answer the question. If you are given part and whole, then use the first version. If you are given part and % then use the second version. And, finally, if you are given whole and % then use the third version.
The second approach is to remember the first formula, 
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, fill in the information you are given and then solve for the missing variable.
For all problems, remember to use the decimal version of the %.
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